Biology MCQ'’s

1. Which of the following is known as "Natural
pacemaker of the heart'?

1. AV node

2. Auricle

3. Bundle of HIS

4. SA node
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2 Which of the following is NOT a type of
blood cell made by the bone marrow?

1. Osteoclasts

2. Red blood cells

3. Platelets

4. White blood cells
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i 3. The total volume of blood in a normal adult
# human being is?

i 1. 5-6 liters

t 2. 3-4 liters

is 8-10 liters

£ 4.10-12 liters
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1.
2.
3.
4.
4. The blood vessels with the smallest
diameter are called

1. Capillaries

2. Arterioles

3. Venules

4. Lymphatics
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5. What is the lifespan of human RBCs?
1. 200 Days

2. 120 Days

3. 210 Days

4. 220 Days
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6. Which of the following pairs has a double
circulation pathway?

1. Amphibians and Mammals

2. Birds and Mammals

3. Reptiles and Mammals

4. Fishes and Birds
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7. Which blood group has no antibody?
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2. AB

3.A

4. B

8. Which one of the following is NOT true of
WBCs?

1. Size -18-25pm

2. They act as "soldiers" and eat up the germs
3. Nucleus - Nucleated

4. Shape - Irregular shape
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9. The blood vessels that carry blood from the
heart to the various parts of the body are called

1. Arteries
2. Veins

3. Septum

4. Capillaries
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Jad difgdrei®dl  delEigl 4. Connective tissue
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7 10. Which type of blood group is known as 4. TSl SHaw
i universal donor? 15. carry oxygen-rich blood from the
: {5 YPR & Iad GYE DI IS arar & heart to all parts of the body.
i Wﬁ\_ﬂ'F-IT\_rl'R'IT%? 1. Skeletal Muscle
i 1.A 2. Veins
2.B 3. Arteries
¥
3.AB 4. Plasma
i4 O negative alﬁ;ﬂmgaamﬁé‘cmﬁmﬂ'\r%mﬂ
i 11. Which vessels carry CO2 rich blood from 'J-I'I"ﬁwaﬁﬂ?ﬂ%l
i all parts of the body back to the heart? 1. T I HIGURDT
1. Arteries 2.,
i 2. Veins 3. it
i 3. Capillaries 4. WS
4 4. Arterioles 16. The normal diastolic blood pressure in a
i P 3l aIfgPE I/R & H‘l-ﬁ YT ¥ €02 Yod normal healthy adult human is
imamquﬁaﬁr%? 1. 80 mm Hg
1. yufa 2. 60 mm Hg
: 2.9 3.90 mm Hg
z 3. m@ﬁ 4. 110 mm Hg 3
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i 12. Human heart is covered by a double I BT 8
i membrane sac called i 1. 80 fat Q?Ftﬁ
1. Plura 2. 60 foret washt
7 2. Kura 3. 90 At weit
i 3. Epicardium 4. 110 firft Taeht
# 4. Pericardium 17. = is a blood disorder where the
i A9 g4 U algd) f3reeht A<t & e gt @ haemoglobin is defective
E o W\“ﬂk‘ﬂ% 1. Heterochromia
i 1. ©RT 2. Alopecia
£ 2.0 3. Haemolysis
i 3. aﬂmﬂﬁﬁ”gqq 4. Sickle cell an?g;]i; % R dreeife
4. WP I W
z 13. Which is the largest artery in the body? garg
1. Aorta 1. %éiliﬁ'"ﬁql
i 2. Pulmonary Artery 2. TSTg
i 3. Coronary arteries 3. gHIfeIR
+ 4. Pulmonary veins 4. e Ja THifdmar
* YRR B a9 aﬁT YA DI %? 18. Which of the following two-word items
i 1. 'FIET‘EI'FF-P[ mean the same thing?
i 2. PEHHTT (u= 1. Blood cancer - Haemophilia
L3 PRI ewfar 2. Pacemaker - S A Node
: 4. ETW ﬁRTlI 3. Osteoporosis — arthritis
i 14. Blood is a type of ___. 4. None of the above
i 1. Epithelial tissue
2. Muscular tissue
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#19. In adult humans, of lead or less in
4 the blood is considered to be normal.
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+ 1. 40pg/dL

1 2.20pg/dL

£ 3. 10pg/dL

7 4.50pg/dL

+ 20. In humans, is the difference
%F between systolic and diastolic pressure.
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1 1.40 mm Hg

+ 2.20 mm Hg

£3.0 mm Hg

i+ 4. None of the above

#21. An individual’'s blood is classified as
if an inherited protein is found on the
urface of the blood cells.

. ANA-Positive

Rh-Neutral

Rh-Negative

. Rh-Positive
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is a condition where plaque

uilds up on the inside of arteries.

Arthrocentesis

Arthralgia

Arthritis

. Atherosclerosis
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23. is a prenatal test in which, a sample
of the fluid that surrounds the foetus is
recovered for testing.

1. Paracentesis

2. Cordocentesis

3. Amniocentesis

4. None of the above
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24. carries deoxygenated blood to the
lungs from the right ventricle.
1. Pulmonary artery
2. Pulmonary vein
3. Aorta
4. None of the above
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25. Snake venom usually enters the body
through an open wound and enters the
bloodstream through the ____
1. Veins

2. Lymphatic system

3. Arteries

4. None of the above
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26. ____ forms clots when blood vessels get
damaged.

1. Platelets

2. Cellulose

3. Haemoglobin

4. None of the above
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[ 4. SRIFa A A B TE 3THTd & BRI G Bt 17HR g1fy Feard &
i 27. is a fluid that drains from the 1. YA
f lacteals of the small intestine into the 2. %ﬁﬁrﬁm
+ lymphatic system during digestion. It usually 3. fe@mn
7 contains fat and proteins. 4. IR H A aﬁ% Hﬁ
¢ 1. Chyme 31. is a condition where a blood
7 2. Bile clot forms in the circulatory system.
i 3. Chyle 1. Thrombus
# 4. None of the above 2. Strombus
: TS avd yerd 8 ot ureq & SR Bidt 3. Hematoma
#W%Wﬁmmﬁmﬁm 4. None of the above
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28. is a small branch of an artery 4 mﬂﬁﬁ?ﬁiqﬁ

that leads into a capillary.

1. Capillaria

2. Areolas

3. Arteriole

4. None of the above
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29. Humans use haemoglobin to carry oxygen

in their blood. Similarly, mollusks and

crustaceans use to carry oxygen

in their blood.

1. Hemovanadin
2. Hemerythrin
3. Haemoglobin
4. Hemocyanin
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30. Severe loss of blood due to trauma is
called

1. Exsanguination

2. Haemolysis

3. Concussion

4. None of the above
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